Ttcp Command-line Options

The full ttcp command syntax is as follows:

ttcp [-t target] [-l bufLen] [-b bufPat] [-n nBuf] [-d duration]
[-s b|B|k|K|m|M|g|G] [-u] [-p port] [-o sockOpts] [-v] [-c]
	
	Option t followed by a string target runs ttcp in transmitter mode and specifies target as the receiving host. Target may be an IP address or a DNS name. If this options is not specified, ttcp runs in receiver mode. 

[image: image1.png]



In receiver mode, the options [-b bufPat], [-n nBuf], and [-d duration] are ignored.
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	Option l followed by an integer bufLen specifies the length of the RAM buffer in bytes. 
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The buffer length is constrained to between 1 and 1,048,567 bytes for TCP, and to between 5 and 65,507 bytes for UDP.
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The default buffer length for TCP is 36500 bytes, which is 25 maximum-length TCP segmetns (1460 bytes).
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The default buffer length for UDP is 1472 bytes, which is the maximum size for an unfragmented UDP datagram.
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	Option b followed by a string of hexadecimal digits specifies the data pattern to be used in the transmit buffer. The pattern is repeated and/or truncated as necessary to fill the buffer completely. The default pattern, 256 bytes in length, is 0001020304 ... fdfeff.
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	Option n followed by an integer nBuf specifies the number of times the buffer will be transmitted. If this option is unspecified or if nBuf is zero or negative, the transmitter will continue to run until duration (see below) is exceeded. The default value of nBuf is 0. The total number of bytes transmitted, assuming duration is not exceeded,  is the product of bufLen and nBuf.
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	Option d followed by integer duration specifies the maximum length of time in seconds that the transmitter will run. The transmitter will always send an integral number of buffers, with a minimum of one, but will not begin sending a new buffer if duration has been exceeded. If this option is unspecified or duration is zero or negative, the transmitter will continue to run until nBuf buffers have been transmitted. The default value of duration is 0. 
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If neither nBuf nor duration is specified, or if both are zero or negative, the test will run for a duration of 30 seconds.
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	Option s followed by one of the characters b, B, k, K, m, M, g, or G specifies the units that will be used to display the measured data rate. The default is m. The characters have the following meanings: 
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b = bits per second (bps).
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B = bytes per second (B/sec). 1 byte = 8 bits.
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k = kilobits per second (kbps). 1 kbps = 1,000 bits per second.
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K = kilobytes per second (kB/sec). 1 kB/sec = 1,024 bytes per second.
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m = megabits per second (Mbps). 1 Mbps = 1,000 kbps.
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M = megabytes per second (mB/sec). 1 mB/sec = 1,024 kB/sec.
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g = gigabits per second (Gbps). 1 Gbps = 1,000 Mbps.
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G = gigabytes per second (Gb/sec). 1 Gb/sec = 1,024 Mb/sec.
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	Option u means use the user datagram protocol (UDP) instead of the Transmission Control Protocol (TCP), which is used by default. Protocols must match between the ttcp transmitter and receiver. 
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UDP is not a reliable transport protocol, so the number of bytes received under UDP will sometimes be less than the number of bytes transmitted. With UDP, the percentage of transmitted bytes actually received provides an indirect measure of network congestion and possibly host performance.
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In UDP mode, ttcp uses a minimum buffer size of five bytes for data transmission. Four-byte datagrams are transmitted as start and stop signals. Since UDP is a best-effort delivery protocol, these start/stop datagrams may be lost, causing the ttcp receiver process to hang.
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	Option p followed by an integer port specifies the TCP or UDP destination port. The transmitter will send its data stream to this destination port, and the receiver will listen for a connection on this port. The default is 5001. Avoid using ports that may be in use by other services on the receiver. Ports must match between the ttcp transmitter and receiver. Use the Win32 command netstat -a to see which ports are in use.
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	Option o followed by an integer sockOpts specifies the options used in setting up the socket connection. See the Winsock documentation for more information. This option is rarely used.
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	Option v specifies verbose output including progress information, the number of bytes transmitted or received, and the elapsed real time. By default only the transmission rate is displayed.

	[image: image25.png]



	Option c causes ttcp to run tests in a continuous loop, reinitializing itself after each test. Otherwise ttcp runs the test once and exits. The transmitter process will fail in continuous loop mode unless the receiver process is also in continuous loop mode. The transmitter waits two seconds before attempting each new connection to allow the receiver plenty of time to reinitialize itself.
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